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CZESC PRODUKCYJNA - PARTER

P.01 - pom.
P.02 - pom.
P.03 - pom.
P.04 - pom.
P.05 - pom.
P.06 - pom.
P.07 - pom.
P.08 - pom.
P.09 - pom.
P.10 - pom.
P.11 - pom.

produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne
produkcyjne

- 228,75 m? + 75,28 m? (antresola)
- 227,15 m? + 75,28 m? (antresola)
- 227,45 m? + 75,28 m? (antresola)
- 227,02 m? + 75,28 m? (antresola)
- 182,02 m? + 75,28 m? (antresola)
- 238,19 m? + 75,28 m? (antresola)
- 351,10 m? + 156,50 m? (antresola)
- 204,27 m? + 75,28 m? (antresola)
- 204,28 m? + 75,28 m? (antresola)
- 204,39 m? + 75,28 m? (antresola)
- 205,60 m? + 75,28 m? (antresola)

S.06 - szatnia
S.07 - szatnia

-21,70 m?
- 15,52 m?

T.04 - stacja trafo

T.05 - rozdzielnia elektr.
T.06 - pom. trafo

T.07 - sSmietnik

T.08 - rozdz. gtowna NN
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PARTER - CZESC PRODUKCYJNA

NUMERACJA POMIESZCZEN



